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PART - A -
- GENERALINTEEEIGENCE & REASONING —— ————-————

Directions: Inquestion nos. 140 6, select the related word/ | 8- (A) Widow (B) Spinster
letters/ number from the given alternatives, © Wite S
1 i AP - _
2 g : E, —-1%
9. ME B B @ O
1 1 :
(&) 755 ® T -
10. (A) BKDF _,
1 i o
9 w7 ©) 6o @ B}IQ ?/
2 AR ZY O b 11.  (A) Digpersi
Dilutior
(4) LV (B XW (@ VU (D) WX (@ Dilutio Dig

3. Sheep : mutton:: | e A

{Aj flesh - (B) venison "‘f
2 (©). veal (D) et W
it A Bk ey 1. N
(A) 9:90 (B) 13-160
O 13250 tp]-i"'m:'aﬂu
5. FLGW%{EW@U - EROITS
['ﬁx} STIURF (B) STUIFR
(C) "STRUIE (D) STUIRF
6.  Cobbler: Leather:: Tailor:
(4A) Sl‘urt (B) Draper
b Jl[('.il.'j. Thread I[D] Cloth ™

Directions : In question nos. 7 t0 12, find the odd number/
letters/ number pair from the given alternatives.

@ 64 (© 120 (D)6

7 (A) 24

1)

14.

IWersion

3 ‘l

B) '1&'{1\" g(;.}:i%l’ﬂ.
- - e

Digtribution

(O) 88

Vhich. ane of the given resppnﬁas would be a

meaningful order of the following ?

(1)
(2)
(3)
(4)

A) (2),6), (1),
© (). (2) () (1)

Plant
Seed
Fruil

Seedling

@)

EB} (4),(1), 3. (?-}

{D] -_['ﬂf' : };. <)

Arrange the fnlim{ring words as per order in the
dictionary. & f

(1)

@)

(3)
(4)
(A)
(e

necrology

necromancy

necropolis

necrophilia

(1), (2). (4), (3)
(2), (1), (4. (3)

(B) (2) (1), (3). (4)
(D) (1).(2), (3),(4)

SPACE FOR ROUGH WORK
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Directions : In question nos, 15 to 18, a series is given,with
one term missing. Choose the correct alternative from the
given ones that will cohmplete the series.

15.  ACE, BDF, CEC, _?
(A) DFH  (8) DEH () DFE (D) DEF
16. ABC PQR DEFSTU_? '
[.ﬂxl GHI (B) K
e e i - # vEma - -
© KL ©) VWX
17. 7,12,22,42,82," 7
(A) 162 (@ 183 (Q 143 (D) 173
18. 23,5917, _2
(&) 32 @) 33 @ 34 o) 31 8
19.  If ‘FATHER' is coded as"HCV]GT then Law can
‘SHIP be coded as:
(A) UJKR (B) THKR
@ UKIR O TIQ
y ¥
20. Inacertaincodelanguage Sue Re Nik means She is
brave, Pi Sor Re ik means She is always smiling
and SorRe ZIi means Is always cheerful. Whatis
the code used for the word smiling ?
A Re © (B Pi  (Q Ser (D) Nik
21.  Looking ata woman sitting next to him, Amit said,

“She is the sisler of the husband of my WIfL How

is the woman related to Amit ?
(A) Sister (B) Wife
(€) Niece (D) Daughter

22,

24

25.

26,

2%

B

- purchased. How many shirts w

[

"t‘i.‘] CHANGE

If PKROK iscoded as 72962 and KRRPK as 29972
then how can NJMLZ be coded 7

(A) 91572 @) S1a2p .. . .
(© 45176 (D) 74314

In a retail shop, there were 54 cupboards. Ineach
cupboard, 28 vacks were made. In each rack 10
boxes were kept. In each box 4 shirts were packed.

One day 500 boxes were sold and 250 boxes were
-there on that

day ?
(A) 59,580
{© 60,380

Fron the
uﬁ =

®) CHARM
(0) MESH

Select the correct combination of mathematical signs
to replace * signs and to balance the given
equation.

224 %32 480
() %= -=
© +-

® x—+=
© +x=-

Mahesh is ‘60 yeais old. Ram is 'S’ years junior to
Mahesh and 4’ years senior to Raju. The youngest
brother of Raju is Babu and he is ‘6’ years junior to
him. What is the age difference between Mahesh
and Babu ?
(A) 15 D) 18

B 13 (©Q 06

Find the hidden meaningful word from the cudefi
alphabets if the alphabets are in reverse order.

(A) 15,11, 22,26, 13 (B) 11,22,15,13, 26
(© 26,22,15,13,11 (D) 11, 15,26,13, 22

SPACE FOR ROUGH WORK
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28.  If >denotes +, < denotes —, + denotes +,” denotes
¥, — denotes =, ® dmmter >and = clenu{ﬁ <,
ch-:mse the correct statvmant uf lhe foi]cnwmg

T(A) 95554-1849>16
(B} 9<3<2>1x%x8"2
(Q 28+412=06"44+2
T D) 13> 7<6+2=3"4 0

29, W1+4=902+8=18 3+6=15then7+8="7
(A) 23 (B) 30 Q) 32 (D) 41

30.  From the given alternative words, select the word
which can be formed using the letters of the given
waord.

_REFUT.ATIGN
" (A) REQUIRE (B) RETIRE
(©) TUTOR (D) PONDER g
| )
ON

o 1542 Y

B L R LS \

W1 6 3. e p)o

Directions® In question nos: 32 to 34, select the missing
numbezfrom the givenpesponses:

3z, 18 QA 13
6 5 10
2 8 7
& Va5 18
A5 - (B 6 © 3 D) 15
33. 6 &5 4
7 6 5
5 7 6
. 93 1
(A) 12 (B) 13 (€) 14 (D) 10

\
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3. 24 20 37
;n 5 2
96T T
(A) 30 (B) 25 © 23 (D) 26

| OneStatementis gi'u-;-:-'ﬁ followed by two Conclusions ] and

II. You have to consider the stateménl to be true, evenif it
seems lo be at variance from commonly known facts. You
are to decide which of the given corclusions can definitely
| be drawn from the given statement. lodig

35. Mc-st Indians are awa: s {hat they

Many ?u ns consider science to
5 ade Indian herll:age great.

any Judians are not aware that
India has a great scientific
heritage.

f"’

Ay
¢

L

Only Conclusion Il follows
(B} Both Conclusions ] and Il follow
() Neither Conclusions I nor Il follow
(D) Only Conclusion I follows

36.  Sonia started from her house and travelled 4 km

towards east. Then she turned left and travelled
6 km. Thenshe turned rightand travelled 4 km. At
what distance is she from starting point ?

(A) &km [B) 5km
(@ 10km D) 14km

37. In each of the following question, there are two

(A) Autismisa developmental disability.

(R) Heridity and lower development of brain are
the causes of the Autism.

(A) Both(A)and (R)aretrue -
(B) (A)is trueand (R) is false
(O (A)is lalse and (R} is true
() Beth (A)and (R)are false

statements labelled as Assertion (A) and Reason (R).

SPACE FOR ROUGH WORK
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38.

39.

Ab. cbg b=

40,

41.

“Tand moved 15 mielers each ime. i\c-w how [aris she

Downloaded From :

Sharada started to move in the djrocnén of south.”

After moving 15 meters, she turned to her left - iwice |

and in which direction from her starling point ?
(A} 15m.South (B) 30 m. East
Q) 20 m. West _(E%-15m; Bast -

Find out the number of triangles in this figure.

Question figure

e

pa

B 14 .

I

® 16+ Qa8 ¢ O 12

Identify the answer figure from which the pieces

given in the question figures have been cult. 1

Que&lmn figures

Vo

Answer figures
- (B)

Which of the following diagrams represents the
correct relationship between Herbivores, Tigers and
Animals ? ¥ -

iy

(A) - (© (D)

http://sscportal.in

If the difference between the no. of dots on the "

42
_ opposite faces is 3, find out the figure which is
correct ? i
Answer figures
[
@) () © (D)

43. Which of the [GUDWII.'IE‘ diz _,___; 'gj.. I'EPIESEHIS the
correct relationship hcl n Books, Novels and
Dictionaries ?

. A r fisures
nswe ;;_;1 L :
=~ AN
@, ©9 ||CD
" .I'-;.'FH.. .-. - ;
9 . E% B) (S (D)
M* ) [dentif fy the region that represents students studying
' " Biology and ComputernnlMathemahcs
Queston figure i
Mathematics
students
(A) 7 (B) 4 Q) 6 D) 2

Directions : In questions nos. 45 and 46, which answer

figure will complete the pattern in the question figure?

45, Question figure
Answer figures

rd

B

(B)

&
(D)

&

©)

(A)

Answer figures
@ ®]®
i &
(A) (B) (€

(D)

SPACE FOR ROUGH WORK
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Question figure

Answer figures

A

(A)

y :

®)

(©)

Aword isrepresented by only one setof numbersas
given in any one of the alternatives. Fht sets af
numbers given in the alternatives are represented
by two classes of alphabets as in two mat L'Ili‘igg,giv en
below. The columns and:sows of Matrix [ are
numbered from 0 to 4 and that of Matrix [l'are
numbered from 5t 9. A letter from these matrices
can be represented fust by /55 tow and wext by its
column, esgy M can be represented by 42, 31. elc,
and ‘[ ¢an be represented by 95, 88 ete. Similarly,
you have togdentify the set for the wérd given
‘ROST . ,

Matrix -1 Matrix - 11
01112({3|4 56 1F]8]9
4 [ K|L|M[N|O| |9|P|Q|R|S|T
SILIM|K|O|N| |8|T|{S|Q|P|R
2Z{N|IO|L|M|K| |7|R|T|S|Q|P
I1|MINJO|K|L| |6|S|P|T[R[Q
0J|O|K|N|L|M||5|Q|R|P|T]|S

(A) 97,21, 66,29 (B) 75,00,10,92

{C) 68, 33,65, 58 (D) 56,44, 67,40,

48.

49.

50.

Which of the answer figure is exactly the water image
of the given figure 7.
Questionfiguge - — —

(D)

Fis (ol ?d and cut as shown below
ares. From the given answer
how it will appear when opened.

—_—

J

Answer figures

B

(A) (B) (©)
From the given answer figures, select the one which
is hidden/embedded, in the question figure.

Question figure

D)

=

Answer figures

s

(A)

4

SPACE FOR ROUGH WORK '
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: : PART - B _ |
T GENERAL AWARENESS — 7

The Words of “Secular” and “Socialist” were added
to the Preamble of Indian Constitution by the
amendment. . y

BT i s cE T R R

52,

53.

54.

v ae o () asteppes .

55.

56.

Which among the following is not correctty paired ?
{(A) Citric acid - Lemon

(B) Butyricacid - Rancid butter

(O Formicacid - Vinegar

(D) Lacticacid - Milk

Which of the following movement was not led by
Mahatma Gandhi?
(A) BardoliSatyagraha
“(B) Non-cooperation Movement
{C) Civil Disobedience Movement
{(0) Champaran Satyagraha

Collective farming is done in the grasslands of tne: :

(A) prairies (B) pampas -

D). velds .. S

The UPSC members remain in office; ™ 58

(A)
(B)

fora period of Tour years or alia 65 yearsof
age whichever is earlier

for a period of €ix years or till they atlain 65
years of agewhicheveris earlier

{or@ period of six years or tll they attain 63
years of agew hich ever s earlier

©
(B) foraperiod of five years oruntil they attain 60
)'Mﬁfth ever 1s earlier

Krishi arman Award for highest growth in
foadgrains (wheat, rice and bengal gram) production
was conferred on 10% February 2014 to the
government of :
(A) Madhya Pradesh
(C) Rajasthan

(B) Uttar Pradesh
[©) West Bengal

57.  Which of the following plans had actual growth

rate higher than the targetted growth rate ?
(A} Fifth Five Year Plan

(B) Seventh Five Year Plan

(C) Eighth Five Year Plan

(D) FousrthFive Year Plan

=

58

59._

60,

How many chromosomes pairs are in a_human
body ?

(A). 22 - (B)-23-—— (G 24

If the earth stops rotating, the apparent value of g on
its surface will :

(A) decreaseeverywhere
(B) - remain the same everywhere

(C) increase atsome places and¥emain the same at
other places

(1) increase everywhe

B- particles e ioactive nucleiare:

adkid [ 1'1.1:13:

(A) heliym nt
(5)
(Cifast .&)

-ﬂﬂﬁg;"r-hyd @een nucled
- W

62.

63.

6.

R B
i fl‘hu. Nobel Prize for Arthur Kornberg was given for
_ “hi¢ workon :

" (A). One gene one polypeptide hypothesis

(B) Cracking tripletcode
(C) Isolation of nucleic acids
(D) Mutation theory

Why were the Congress leaders disappointed with

the Cripps Mission (1942) ?

(A) They wanted full independence rather than
Dominion Status.

(B) TheMission’s proposals had not paid attention
to the dermands of the Muslim League. -

(C) They did not want to share in the responsibility

for the defence of India. I

(D) None of the above

Linnalus is considered as the ‘Father of Taxonomy”
because he :

(A) coined the term “Taxonomy’

(B) proposed binomial nomenclature

(C) authored many books on Taxonomy
(D) was the First Person to classify plants

The production, marketing, storage and
consumplion of nicotine - based products is banned
i

(A) Rajasthan
(C) Mizoram

B) Assam
(D) Delhi

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl



e (A)-productivelabowr .
(B) unproductive labour

65.

67.

68.

69.

70.

7L

72.

73.

7,

" 66._The Boston Tea Party was: —

Downloaded From :

The labour which creates value and gels rewarded
for its services is called :

(Q) both skilled and unskilled labour
{8)] average labour

(A) aprotestagainst the tea dnnkers of Boston
(B) aprotestagainst the tea tax

(O an annual 50=:ial affair

(D) acelebration of the harvest of tea leaves

“Jai Hind" was the slogan given by :
(A) Lokmanya Tilak

(B) Subhas Chandra Bose

(C) Gopalkrishna Gokhale

() Chandra Shekhar Azad

Where did Mangal Pandey revolt?
(A) Barrackpur {B) Jhansi
(C) Nasik (D) Meerut

Greenland isa:

(A) high plateaucovered with ice
(B) low plateau

(C) continent totally covered
(D} big ice sheet )

with spow

The layer presentin betiveen xyh. mand phlgemin
Dicot Stem is+

(A) stele

(C) starch.sheath

(B). ca mbium

[:D} ]‘lilh

Which oneofthe following are recorded first by the
Seismograph ?
(A} S-waves

(C) R-waves

(B) L+ waves
(D) P-waves

Whois (he winner of the Indira Gandhi Peace Prize
2122

(A) Ellen Johnson Sirleaf (B) Lydia Davis

() Christinzt Legarde (D) Ela Bhatt

Liquidity preference means:

(A) Desire of the public to hold cash

(B) Showing preference to hold capital assets

(O Showing preference to hold bonds and
securities

{D) Refraining fromconsumpticn

Enumerate the Vedangas :

(A} Tour
(C} Eleven

(E; Five
(D) Six

78,

http://sscportal.in

75,

77

80.

81.

(O LaxmanDas

(A) NDA

The Chairman of LIC is :
(A) Vinod Rai (B) K. Mehrotra
(D) Meirakumar

In ferns the xylem is :

(A)_Endarch -~ - (B) Mesarch -~
(O Polyarch - (D) Exarch.

One of the following is the cc:-n:-mutmnaj pawer ﬂf
the Indian Parliamenl :

(A) Amending Indian Egpm ;:1% and when
required h

(B) Settling disputes ﬁ[l‘tﬂn‘ﬁi@ﬁﬂuﬁ departments
(O Revie w:m %‘w ork 8Fcducational institutions

(1)) Supe @%ﬁﬁfork of state legislatures

Br. ]1;::3__.-’& Mbedkdesvasconferred “Bharat Ratna”
duringthe regimie of ;

(B) BjP

@10 D) UPA

Which of the following is not an attribute of <font>
element?

(A) Tace
() Archive

(B) Size
(DY Color

China built the Gwadar Portin:
(A) Bangladesh (B) Myanmar
(C) Vietnam (D} Pakistan

Who wrote *As You Likeit’ ?
(A) William Shakespeare
(B) LeoTolstoy

(O MulkRaj Anand

(D) Bernard Shaw

When central bank buys securities, bank reserves:
(A} contracts

(B) remains the same

(C) hasno impact on the reserves

(D) expands

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl



~ 84 "Sun iy a constantsowrce of energy - Which ey [ == = -

s

§7. Probiotic curd (Yogurt)

dB sl b
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83.  The National Campaign for People’s Right to

Information (NCPRI) has been lobbying for the
afmqe of the “Whistle blgwer's Fmiulmn bllI
which i§ aimed o help —

(A) Woman Activists
{©) RTI Activisis

(B) Strect Vendors
(I Noneof theabove

get fused i Sun'’s atmosphere ?
(A) Helium (B) Uranium
{C) Plutonium (D) Hydrogen

85.  Tape recorder records sounds inthe formof :

(A) Magneticenergy
(C) Sound waves

(B) Variableresistance
(D) Electrical energy

86.  Species isa group of individuals which can :

(A) surviveeven under odd conditions
(B) remain reproductively viable

(O notinter-breed

(D) successlully live tagether in a nichie
confaing health
benefitting good !

(A) lransgenic genes
(C) bacteria

(8) antibiotics
() source of energy

88. A solid cannol change itsshape easily compared t-:s‘

liquid because of s

(4) strongerintermolecular force insolid

(B) largerintermolecular seperation in solid
(@ biggermolecular size of solid

(D) higher density of solid

89.  Which matters come under the Criginal Jurisdiction

of the High Court ?

(A) Electiondisputes

(B) Criminal disputes

(O Constitutional disputes
(D) Civil disputes

90.  Aceticacid on decarboxylation gives:

(A) Ethane
(C) Butane

(B) Propane
(D) Methane

http://sscportal.in

a1,

g3,

94,

45.

97.

98,

95.

100.

S Mdoggese

Krivoy-Rog has rich resources of
(A) lron-ore (B) Copper
(D) Boal

“War and Peace’ was written by :

(A) Lenin (B) R.N.Tagore
(O Sarojini Naidu (D) LeoTolstoy
Enzymes are:

(A) Carbohydrates

(B) Bmlog!ca]Cami}'sLs

(O Fats

(D) Naone of the above

Taj Mahal was c‘esmnedﬁﬁ(
(A) Ustad Magsur  (B)% Hbtdd Rahim
@ Ustad SI\ nsher {Eﬁ Ustad sa

[’Jwatejmi St _,ﬁ‘t IHLTIEhLHI’ibE:C'l“EdaS
(&) foreigmelirect investment

(B) f_ng,_lim? d investment

{O) awfongmous investment

@) foreign institutional investment

The information in 'EEPROM’ is erased by using

(A) UV-rays
(C) Digital Signals.

(B) Electrical Signals
(D) Electrons

IRDP was introduced during the:

(A) Fifth Five Year Plan

(B) Fourth Five Year Plan

(C) Third Five Year Plan

(D) Sixth Five Year Plan

Statement 1 : Quinine is used in the treatment of
Malaria.

Statement 2: Itis obtained from the root of Cinchona.

(A) Statement 1 is incorrect, but Statement 2 is
correct

(B) BothStatements1and 2are correct
(C) Both Statements 1 and 2 are incorrect

(D) Statement 1 is correct, but Statement 2 is
incorrect

Who was the grandson of Ashoka ?
(A) Dashkumar (B) Dashanan
(O Dasharath (D) Dasraj

Innature, trophic levels are found in:
(4) Shootsystem (B) Ecosystem
(O Tissuesystem (D) Rootsystem

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl
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I e b PART .. . oo o = :
QUANTITATIVE APTITUDE= | J
Ll - A
101. Ifa = 4011 and b = 3989 then value of ab = ? 108. A sphere anﬂ/ ﬁﬁmﬂp‘rﬁ!r :'fv the same radius.
15800870 . (B} 15989979 . Then theslic ir respective total surface area
oo ORI . | DO
© @A1:2. @ 4:3 (©34 @O 211 _
102. Each of the twocircles of equal radii with centresat , A 3
A and B pass through the centre of one another. If | 109.  Themarked price ofanarticleist 500. A shopkeeper
they cutat Cand D then ZDBC isequal to: gives a discountof 5% and still makes a profit of
o g z: 60° 25%. The cost-price of the articleis
(A) 100° . (B) 120° (O M0° (D) (A) T 380 B) T30 ¢ il
© 376 0). ¥ 388 e
103. The average of 11 numbers is 63. If the average of 1.*..' 51 f':jn
f: :'sll]stt ;.;l E::EE 11}.-:; f?sa.nd the last six numbers is 65 140, 5534178798 201960 is mﬁ"@ h g
) ' - W7 ot
M) 60 (B 62 (©O64 (D) ST (A) 0 'S ®) -1
: A : . . 111, A traifru : ga the speed of 84 kin/hr passes a
A right pyramid 6 m high has a square base of Wh“?h > é{ulki IO o c Wb cction at the speed of
the diagonal is /1152 m . Volume of the pyramid Gukmfhy i seconds. What is the length of the
is: | . Train (metre) 2
(A) 288 m® @) 576 m® D tApi20 @) 100 (©Q 90 (D) 150
(© 1152 m* 0) 144 m? L |V
112 Ifa?+ a+1=0, then the value of a% is:
105. If (A) 3 B 1 @ 0 (D) 2
(1+sin A)(1+sin B)(1 +sin€) =(1~sin A) -
: ar 113. 3yearsago, theaverageageof afamily of 5 members
(1 ~sinB)(1 —sin G)}0 <'A;B,C< - theneach was 17 years. A baby having been bor, the average
sidete paual to - s . age of the family is same today. The presentage of
; 7 ' the baby is:
(A) cos Acos BeosC
: 1
®) (g i (A) 1;:_' years (B) 2 years
@10 :
(D), sinA sinBsin C (Q 3 years () 1 year
106. A man,awoman anda bﬂ}r lugcﬂmr firush a le of 114. ThE' diflterence bEl“.'E‘Eﬂ ﬂ'EE ﬂ(}mpnund interﬁtmd
work in 6 days. If a man and a worhan can do-the simple WIETEL 0 & ol SUII for 2 yearsat 10%
work in 10 and 24 days respectively. The days it per annum is ¥ 300. Find the sum :
will take by a boy to finish the work is : (A) ¥ 31,500 (B) 30,000
(A) 35 @) 40 @ 45 D) 30 (©) T 30,500 (D) 31,000
107. Among the angles30°, 36°,45°, 50° one anglecannot | 115.  The simplest value of cot 9° cot 27° cot 63° cot 81°
be an exterior angle of a regular polygon. The angle i5:
o | W1 ® -1 @ 0o 3
(A) 3¢ @B 45° (@ 0 (D) A 9 V3 . {'_3'}
SPACE FOR ROUGH WORK !
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If x=k3-3kZand y=1-3K, then for what value of

" _k will b:_e,ll—-'f £

(A) 1 ® -1 ©2 (©F

Jasmine allows4% discount on the marked price of
her goods and still eamns a profit of 20%. What is

~thecostpriceofa shirtif its marked-price-is 8502

(A) T 720
@ T680

® %700
D) T 650

I the following number series a wrong number is
given. Find oul that number,

8,18, 40, 86,178,370, 752

(4 180 (B 128 () 156 () 178

I sin 0=0"7, then cas 0,0 = 0 <90°,is:
(A) Jo.49 (B) Jos51

(D) 0.3

The three equal circles touches each othgr

externally. If the centres of these cireles be A, B, C
then AABC s : -

(A) anequilateral triangle
(B) anisosceles triangle
(O) ascalene triangle
(D) arightangle triangle

f"a can'do a*piece of work in 16 days and B in
24 days. They takethe help of C and three together

f uushihe I in b days. If the total renumeration

forthe work i 2 400. The amount (in rupees) each

will receive;in proportion, to do the work is:

(A) A:100,5:150, C:150

(B) A:156,B:150,C:100

(C) A:100,B:150,C;100

(D) A;150,B:100,C:150

fet ¥ '+'L=EG“ then 'tlte *value of
: 1_2

Iz—l+2x:?.

X
(A) 10, =6 B) 6 -10
Q +4 (D) £8

. http://sscportal.in

123. Find the valueof :

JEEF PR = y = 32) =3

whenx=+1, y=-3 z=-1

© 1

wo @ -

124. When 75 isadded to 75% of & number, the answer is

the number. Find 40% of that number :
(A) 80 B 120 - (O 160 (D) 100

125. Fora triangle ABC, D, E, I arg tlfQ,pud -points of its .

sides. If AABC=245q. m DEI‘ is:
{A) G5q. units
qumts

(O 12 sq. unit ;
Fora _l,flcl %«inlm lies on one of its sides.

lj;g:t] ian
(~) -th.tsﬂj an 510d

{0) equilateral

126.

(B) isosceles
(D) rightangled

What number should be subtracted from both the
terms of the ratio 11 : 15 s0 as to make itas 2: 37

w3  ®4 Q5 @2

126. The value of 0, which satisfies the equation
tanZf+3=3sec0,0° = 6 <90°is:
"(A) 30°0r0° (B} 45°0r 0°
© o0rorl® D) 15%er(®
129. What will comein place of the question mark (7) in’
the series ?

3, 8,27, 112, (2);3396

(A) 452 B 560 (O 678 (D) 565

130. A can do a piece of work in 12 days-and B in
15 days. They work together for 5 days and then B
left, The days taken by A to finish the rem.zummr
work is:

®5 ®11 Q12 "'fb}a 3

131. The value of sin® 65°+ sin? 25° + cos® 35° +

cast55%is:

w1 ®m2 @3 @O

SPACE FOR ROUGH WORK

P
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Q) arightangle (D) areflexangle . _ |

133.

e ()20

134.

h.l i

135.
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The angle in a semi-circle is
(A} anobtuseangle (B) anaculeangle

A train 50 metres long passes a platform of length
100 metersin 10 scconds The speed of the train in
melers/ second is:

i i

B~ [ -20-——(D) .50
e [ be the mcentre of :U\BC and £B-- ?ﬂ" and
.’L'C 5[!“ then the ma-*m tude of /_’EIC15
(4) 60° ®) 120
(O, 105° D) 130°
Value of

{s:in2 ?3—1— + sin? SZ-IE + tan? 2° tan® 88° is:

(A) 2 ® 0 © 4 @ 1

136. Selling an item for T 1800 at a discount of 10% a

137.

138.

139.

140.

141,

shopkeeper had a gain of ¥ 200. Had he sold the
itern without discount the percentage of profit would
have been:
(A) 20% (B) 25% (&) 30% {ﬁ}‘ 1%
A table with marked price T 1200 was sold lo a
customer for ¥ 1100, Find the rate of discounis
allowed on the tabie.

T R
() 8~ =% Q) 10%

e Py |

B) (D) 9%

I the mlia,ﬁ%‘lumes of lwo cones 15 2 : 3 and the
ratio of the radii of their bases is 1:2, then the ratio
of theirheights will be:
(4) 318 (B) 4:3

©3:4 () 8:3

320, thm the value of x is :

7 @) 6

1f 25— l_|_2'¢+1
(A) 8 B) 5

In APQR, the line drawn from the vertex P intersects
QRatapoint 5. If QR =4.5cmand SR =1.5cm then
the ratios of the area of triangle POS and triangle

PSR.is: .

(A) 3:1 B 3:2 ([© 2] Dy 4:1
Find the value of 1— 2 sin?0-+sin? 6.

(A) cos? (B) cosectt

() sect0 (D) sint 0

143

142, The ratio of the ages of two personsis 4: 7 and lh.e

age of one of them is greater than that of the other by

30 years. The sum of their ages (in years] i5:

(D) 110

A) 100 (B 70  (Q.40
2
If X -+ —-=1 lhenlhe vaiueo[—-iﬂis
e R
RO

®2 ©-2 M1

The adjoining pie-chart shows the proportionate
expenditure on various item of A:#ar’;. family. If the

monthly income of Amar i is m 0/- then answer
Question Nu 144 to147. i

5AVINGS

5%

& R0
EDUCATION  17%
15%

145.

- (© 12,000

146.

147.

Had his income ¥ 40,000 /- how much would be
spent on food ?

(A) 1,360 (B) 8,160
(© 6,800 (D) 14,960
S

How much does he spend more on rent than
transport and education taken together?

(A) 9,600 (B) 4,800
(D) 2,400

If 10% of miscellaneous expenditure is earmarked

« for clothing, how much amount is spent on

clothes ? G
(A) T 1,440 (B) ¥ 2,880

(C) ¥ 15840 (D) T 14,400

How much does he save per month ?

(A) 14,400 (B) 3,840

@ 2400 (0) 7,200

SPACE FOR ROUGH WORK
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Following histogram depicts the range of heights of -
__students in.a class.of 60 students, Study the same_ and
ANSWer Qufﬁalﬂll Nﬂ I‘;q to 15{}

148.

149,

150.

Ao p oae

DB e e mss e e 1
24
22
20
18
16
14

NWumber of students

100 130 120 130 140 150 160 170 150 190

Height in cenlimeter

Number of students having height mor@than
Sheoms:

(A) B ©. 13 [ 25

() 38

Number of students with their heigh:*.s between
130 t0 150 ems -
(B) 14 Q 22

) 6 ©) &

Group which contains maximum number of
students :
(A) 150-160 (B) 140-150

Q) 160170+ - - (D) 13¢-140

144,

145.

146,

147.

148.

149.

150.

section A andigec Ia Lg,
£ h‘j&

16 a:hﬂdlen are tr:)bf: divided into two groups A and
B of 10 and 6 children respectively. The average
marks obtained by thechildren of group Ais 75 and

" that of all the childrenis 76. Then 1Ihe average marks
“ofthechildrenofgroup Bist — ~ e

s A _}31
A 73 ® 783
. 2 il
© 7835 (& 77—

o
-~ |
1

The average marks of 36 sh Lfﬁnféﬁ section A is
86% and thﬂ[‘ of 24 studeni@lir¥section B is 96%.
Find the a: era nar%-». ]Eﬂ]l the students in
ther,

{C_l 91% (D) 90%

Firid LH;EL m;hu ersintheratioof 1:2:3, so that the

' um of their squares is equal to 504.

(W6, 12, 18 ®) 7,14,21
) § 16,24 D) 4,812

By selling saltat¥ 55.80 per quintal a dealer lost7%.
Al what price should he have sold it to gain

%2
(A) T 6400 B) T64.20
(€ %6520 D) Z6540

The outer circumference of a 1 cm thick pipe is
44 cm: How much water will 7 cm of the pipe

hold ? (Take m= %]

(A) 1792 c.c
Q 792cc

(B) 308 c.c
(D) 1078 c.c

fFP+Q+R+5=5and (P+Q) (R+5)=6, then the
numerical value of P+Q—R—Sis:

A) 0 (B 1 © 2 o) -1

The compound interest on a certain sum for 2 years
at12% per annum, compounded annually isT 1272.

~ The simple interest for that sum at the same rate and

for the same period will be :
(A) X 1196 (B) T 1220
(© %1200 D) 7 129

SPACE FOR ROUGH WORK
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-l. : ; ] 3
Directions : [n question No. 151 lo 155, some parts of the
sentences have errors and some are correct, Find outwhich
part of a sentence has an error and blacken the

oval [@] corresponding to theappropriate letter (A, B, C).

—1fasentence is free froni error, blacken the oval

corresponding Lo (D) in the Answer Sheet.

151, Every boy and every girl/ we%e’f given /

(A) (B)
a packet of sweets / Noerror.
(©) (D)

Wi dnoawpi=- b o

b
152. Much harassed / heleft hostel /
(A) (B)

bag and baggage / No Error.
() (D)

153. DPartof the research program/
(A)

. s . ;
involved inlervievinng Ieemgters,f

\B)

in inner-cityareas/ Ngerror,
© (D)

154. 1could not put up ata hotel/
()

because the board and lodging charges/
(8

were too expensive / No error.
© (0)

155. The young man /was surprised /

(A) (B)
perhaps 4 shade scanda lized/ No error.
(€ (D)

PART - D
- - ENGLISH COMPREHEHSION

156. The sound effects
director.

(A) beenprovided  (B) provided
VY are provided (D) being provide
o :

157. She heard the € &f&?@ngm

W

AW
W) crashing o GRS

- {C} rattling. 1§ @]"‘:;uhﬂmg
. £ Eﬁ% :
158. The huntegialled bwo for dinner.

(i% foul _. @“ fool
fﬁ} flour ) fowl

159, The principal has given his
match.
(A) refuse (B) assent
O —except (L) ascent

160, e, = =t
(A) bale
(G} bald

of cotton is very heavy.
(B) band

YD bail

alternatives, choose the one whi
meaning

Shieet.

e

o i g
161. Honest: £ "‘IE?TE,_L{
(A) direct (B) actual

(© authentic 1{9} upright

162. Cantankerous A ar FRA
b,
(4) rash (B) disrespectiul

() noisy YT quarrelsome

Directions : In question No. 156 to 160, sentences given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question. Choose
the correct alternative out of the four and indicate it by

by the recording

to the

Directions : In question No. 161 to 163 ontof the four
sses the

he-given word m1WAnswer

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl
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163. Voationw (_':_‘qu!m x

Lg,,./' tccupation (B) holiday
tC) ecxamination (D) seminar

Directions : In question No. 164 to 166, choose the word
opposiie in meaning to the given word and mark it in the
Answer Sheet.

U
(L (B) captivily -
© gaiety 1D)prodigality

165. MISERABLE -~
e,
(A} active

(@ —olitary

166._HUMANE: g

(B) laudable
(D) happy

(¥ person ) man
() unkind WDy Tiving being

Directions : In question No. 167 to 171, four alternatives

are given for the Idiom\ Phrase underlined intliesenterice. |

Choose the alternative which best expresses the meaning
of the Idiom\ Phrase and mark it intle Answer Shett.

167. Tocutoneshort.
\(B" to interrupt one

(D): to insull one

————— ¥
(A) locriticise one

(C) dolove one

168.  Totkwow dus! inone’s cyes. vy’
T4#A~to show false things  (B) tomake blind

(@ to harmsomeone (D) todeceive

169. Heisa cutabove all the other boys in the group.
(A) alittle lz'ougher than &
“(B)}-rather superior to
(O quitetaller than
(D) more active than

&
‘E;J\_ﬂ

170. As soon as the police arrived, the bank robbers

showed the white f lag.

(A) ranaway

(@ calmly left the scene .Wrrendered

(B) were incensed

Click Here For CGL Exam Full Detali

http://sscportal.in

If you read between the lines, you will appreciate
what he writes.

171.

(A) know what the writer thinks
- — —(B)--canread andwrite in-the language. —
1“@@?@:\ read leaving lines in between
(D) canread alot quicker

‘-Birefl‘i'DTIS':'1ITqLI.ESﬁOI'I'Nﬂ?TT?TI]']'BT,‘E’SEH['En'CEf"ﬁ'Ijﬁ:[-'
of the sentence is underlined. Below are given alternatives
to the underlined partat (A), (B), (C) which may improve
the sentence. Choose the correct alternative, In case
no improvementis needed your answer i 5(D). Mark vour
answer in the Answer Sheet. % ’

LY

172. Thesight of the ii;m rd is l_n_tﬁg_l‘iﬁ me
By —opwisive

(B) "No improvement

(A) repulsion
(C)Trepulsen

=3
fad

Dﬂl‘hﬂg, his {_[_6n;; discourrse, he did not touch the
cantralidea of the topic.

() touch
({©) touchupon

(B) touchon
(D) Noimprovement

i e . & oa e . . . s I B L CTIET R
Would it be impertinent to ask why vou are
leaving ?

(A) if asking why youare leave

174.

(B) forasking why you are leave
WY€) toasking why vouare leave
(D) MNoimprovement
175.  Wedid not see this movie yet.
(A) neverseen (B) have not seen

(C) neverhaveseen (D) Noimprovement

176. This telephone number is not exisfing,
(A) hasnot existed

1) —does not exist

(B) has not been existing

(D) Noimprovement

177. Unless they modify the system, our future

generations will sufler. .
\,t:()f Unless the system is modified
<fB) Unless the system will be modified
# 1fthe system will not be modified
(D) Noimprovement

Is : http://sscportal.in/community/cgl



Downloaded From

178. Kajesh's ability Lo use the local language surprised
me.
""" 2 C-&A')"I&hwjﬁuf' - '(B) confidence with®

(O familiarity with (D) Noimprovement

e e e e s | i e e e 5

179. Tusually did not take sugar in my tea.

(A) donottake - (B) donottakes

w improvement

(C) have not taken

180. Wehave to know that we can achieve things slowly

and gradually, not overnight.

(A) wouldknow that  (B) had to know that

(©) mustknow that (D) No improvement

" 181. The student’s interest was raised byan article he
had read. .

(A) quickened V(B multiplied
: L]

(Q increased

() Moimprovement

Directions : In question No, 182 to 188, out of the four

_ alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate oval [ €® ] in the Answer Sheet.

182, Astrong dislike :

(B) malice

\[4) animosity

(€} reciprocily (D) entreaty

CY-2013/Page30 -

. http://sscportal.in

183. Person who files asuit:
(A) plaintiff (B) accuser
— _"(Cr:[charg{_!r — - — L‘['D}_ suitor. - — —— e s
184. The Mahabharata is a long poem based on a noble
2 (A) narration \(@,—ePic
{O) summary (D) story
)
185. The practise of having many T.a.r_[j.-'rs-.':,ﬂ:ﬂ .
i) pdtygamy (B} polyantey
(C) bigamy 1) @Eﬁiﬁp}g
T L .
186. A person wlig absfains gompletely: from alcoholic
drinksg h V o
(A subjundtive i (B) incriminatory
¥ oetolaller M) derelict
187. A frog lives both on land as well as in water :
(M) agquatic (BY ambidexterous
(C) animate \[Di-eiphibian
185. Take great p!ea-surez

(A) uphold
* (© revel

, (B}- overhaul -

- (D) satisfied

Directions : In question No. 189 and 190, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark your
answer in the Answer Sheet.

189. \‘:f} propeller

@ propellar

{B} propelre
(D) propeler

190. (A) misionary

(L misionerry

(B) missionnary

(D) missionary

m,
I TM1LH2

Euig

Click Here For CGL Exam Full Details : http://sscportal.in/community/cgl
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Directions: m@mﬂﬂhm to 200, you have two brief

- passages with 5 questions following each passage. Read
~the passages caretully and chioose the bestanswer toeach
question out of the four alternatives and mark it by
blackening the appropriate oval [ @ | in the Answer Sheet.

—— Passage - I[Qm:stmnNo 191 to 1‘35]

The rggé__ts pubhshed l1y,_.a~_.DeIh| based
on-governmental organization working for the
imination of child labour in India suggest that there s no

end msightto the sordid of child labour. The studies
conducted reveal the nightmarish ordeals that a vast
majority of children undergo for getting the basic necessities
of life. One of the activists narrated the heart-rending and
shockmmmn’fha_pmmhﬂdﬂmmm&

ociety “Soctety of insensitivity towardsthis vulnerable section.

© Ttissaid that more than five percentof the total Indian
populahon are child workers. Tens c-f thousands are chiefly

afﬁo—ed in agriculture in riral areas and in a variety of
industries in urban areas. Children as young as seven years

“of age spend days stitching [ ootballs, bowing and cricket
gloves for exp any children spend their entire

childbiogd m}iﬁmg carpets with (Feir @xterous hands,
Unofficial figuressuggest thatas many as40 o100 millign

children work in hazard hazarduus industries 1l @ glasSWare,

firewoTks, quarties etc. Many W of them have beenforged to |

work jn unhygienic conditions oftenon amsni’tuﬁﬁlﬂ

191. The word hearl-rend g aneans. i
(A) shocking & painful
(O riskys {_fBydistressing
192. The societyisaccused of . ° towards the
problem of ehild labour.
Ly imsensitiviy . (B) biss — Ty
(© reports (D) vulnerability
193. of children work in hazardous
conditions. ~
(A) Five percent B) Thousands
(O Many \(DyAillions

194. Their childhood isspent in

(A) hapless WB}—urban
(©) vast (D) nightmarish
195. The report was published by

(A) agovernmental organization.

(B) anactivist.
\{Ej’ﬁ'flaglhi based non-governmental organizalion.

(D) the Delhi government.

conditions,

http://sscportal.in

Passage - I1 [Question No. 196 to 200]
The advent of electric power was, in a way,

of nuclear power in the 20" century. Tnfact, The historical
e T T b T T e e

raots of electricity icity extend far back into antiquity. Many

men had a hand both in ; acquring ¢ basic knowledge about

helped to unluck the doors leading 1o lminn of

electricity 1 w%‘ the discovery,in 1831, -:Jf the principle of

electro- magnuhc stic induction. Thi 1b|5. d&gnvery was made
simultancouslv by Michael Faraday in England and Joseph

gnr&,ln e Umteﬂ"Stalr_-s From it came the generator,
somelimes 1E*=n cailec'l the dyna zpn but sgvera

develo ment 'Eﬂd to fﬂ!lm-. be [ojg First practlcu]
ynamos or gencramr {‘anm int@Ex Bin ﬂ*r[}r 1870.
e 31
AV

196. According lnl[‘n.,.'iulhnr ';'- L

(4) The c.%u}%ﬁ'*. nfgjw “principle of electro-
mag erﬁuﬂﬁr‘-n was not an important
’,ﬂl‘-.-._‘ﬂﬁﬁl?‘;

,'I"T:ﬁ]f: 1ﬂnlnt of electric power is equivalent to
the application of nuclear power in the

, 20th centuty.

Q

)|

Micheal Faraday and _Joseph Hénr}r

revolutionized elecricily in the USA.
(1)} Nuclear power and electricity were discovered

in the 20! century.
197. Givea synonym for “anltiquity”.
(A) Modern (B) Uniqueness
| Ancient (D) Antipathy

-198. Micheal Faraday and Joseph Henry -discovered

\_{&)—the dvnamo

(B) the principle of electro-magnetic induction
(O theapplication of nuclear power
(D) the generator

Another word for “advent” is
(B) constitution

(D) arrival

199.
{A) invention

Wscwew

200. The generator was also known as the
(B) conductor
(D) dynamo

{A) inventor
() inductor

000- .
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comparable to the sucgessiul development and application

the invisible form of power and in developing the ways
adopted for practical purpose. One of.the vital keys that

denr.i | decades of :
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